25x% +9y” + 50x - 36y — 164 =0

|

2 2
=)’ -2 _
9 25

Foci (-1, 6) (-1,-2)

y=—4x*>+20x-16
5.2

=—4(x-=-)+9

y ( 2)

Focus (21, SE)
2 16

P+ —6x-4y—12=0

|

(x-3’+(-27=25

No focus/foci

CONICS

(Solutions) 4 \{
\ (-t,2) 1
< ——t +—+ t -+ ¥
\,Lf
y v
({/z(“\
e
4
3 g
< t » X
YA
A
//"\
/-
/1
[ 55\
I
< bt ,%\:\_ f—t———— '1/ + X
.i" i.:\\i‘ N ] ‘M/./




4. P -y*-14x-8y+37=0 \IA
l 7
~
< D\ VP SV A > X
—— +A >
' A\
—(x-—7)2 + (y+4)2 =1 | \./
4 4 - N Zr
i } /|
S
Foci (7,—4+2J§)(7,—4_2J§) ' f/: }
/ Q
% N
/ ]
v/ N
NS N

5. 4x% + 36y + 48x + 216y + 324 =0 <

l

(x+6)* N (y+3)?
36 4

=1

Foci (—6-4+2,-3) (-6+42,-3)

v
Y =
| o <
6. 4 -9y’ +16x+108y—-344=0 .
R 7
|\> |
l g
] /M,Gﬁ\,
e _L -_:\.l\
x+2’ _ -6 _ | / TN
9 4 il N
P L <
< 1 :X
Foci (-2-+/13,6) (-2 ++/13,6)




7.

8.

#+y +16x+10y-11=0

l

(x+ 82+ (y+5)%=100

No focus/foci

x=2y"+12y +10

1

x=2(y+3)° -8

Focus (- 7% ,—3)

A

4
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